














Q. Statement : Since its launching in 1981, Vayudoot airlines has so far 

accumulated losses amounting to Rs. 153 crore during the last ten years. 

Course of Action :

I) Vayudoot should be directed to reduce wasteful expenditure and to 

increase passenger fare. 

II) An amount of about Rs. 300 crore should be provided to vayudoot to 

make the airlines economically viable.

कथन : 1981 में लॉन्च होने के बाद, वायुदूत एयरलाइंस को पिछले दस वर्षों के दौरान अब

तक 153 करोड़ रुिये की हापन हुई है।

काययवाही :

I) यात्री पकराया बढानेऔरअिपिष्टव्ययको कमकरने के पलए वायुदूत को पनदेपित पकया

जाना चापहए ।

II) वायुदूत एयरलाइंसकोआपथयकरूि सेव्यवहायय बनाने के पलए 300 करोड़ रुिये की
रापि प्रदानकी जानी चापहए।



Find the missing term(?)

16 : 56 :: 32 : ?

(A) 96

(B) 112

(C) 118

(D) 128



Which number will replace the question mark ?

(A) 11 (B) 5

(C) 10 (D) 7

10 5 6 6

17 3 14 14

8 15 23 ?



Find the option which should replace (?)

( 13 , 20 , 27 ) : ?

A. 30 , 11 , 18
B. 18 , 25 , 32
C. 18 , 27 , 72
D. 7 , 14 , 28



Find the missing term(?)

42 : 56 :: 132 : ?

(A) 156

(B) 145

(C) 110
(D) 240



Find the missing :-

(A)118
(B)122
(C) 128
(D)120
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If you write down all the numbers from 1 to 100, then how many 
times do you write 5 ?
यपदआि 1 से 100 तककी सभी संख्याएँ पलख दें, तोआि 5को
पकतनी बार पलखेंगे?
A.11
B.18
C.20
D.21



The total number of digits used in numbering the pages of a 
book having 300 pages is
300 िृष्ो ं वाली एक िुस्तक के िृष्ो ंको क्रमांपकतकरने में प्रयुक्त अंको ं

की कुल संख्या है

A.792
B.990
C.1098
D.NOT



The total number of digits used in numbering the pages of a 
book having 1010 pages is
1010 िृष्ो ं वाली एक िुस्तक के िृष्ो ंको क्रमांपकतकरने में प्रयुक्त

अंको ंकी कुल संख्या है

A.2700
B.2933
C.2899
D.NOT



What is the product of all the numbers in the dial of a telephone 
?
एक टेलीफोन के डायल में सभी नंबरो ंका गुणनफलक्या होता है?
A.1,58,480
B.1,59,450
C.1,59,480
D.None of these



Q. In ASEAN Summit, all leaders shake hands with each other 

once. How many handshakes will there be altogether if there 

are 15 leaders?
आपसयान पिखर समे्मलन में, सभी नेताओं एक बार एक-दूसरे के साथ हाथ पमलाते हैं। 15 
नेता हैं तो पकतने हैंडिेक होगें? 
(A) 105 (B) 85

(C) 75 (D) 100



Mukesh is 40 years old and he is five times as old as his 

brother Rohit. When Mukesh is thrice as old as Rohit then 

age of Mukesh is
मुकेि 40 सालका हैऔर वह अिने भाई रोपहत से िांच गुना बड़ा है। जब मुकेि रोपहत से

तीन गुना बड़ा है तो मुकेिकी उम्र है-
(A) 44 years (B) 46 years

(C) 48 years (D) 40 years



Q. Rinky is thrice as old as Saroj. Four years ago, she was 

five times as old as Saroj. How old is Rinky now?
ररंकी सरोज से तीने गुना बड़ी है। चार साल िहले, वह सरोज से िांच गुना बड़ी थी। अब
ररंकी पकतनी बड़ी है? 
(A) 21 years (B) 12 years

(C) 24 years (D) 16 years



A school has 2100 students. For every 20 students there 

is one class monitor. The number of monitors in the 

school is
एकसू्कल में 2100 छात्र हैं। प्रते्यक 20 छात्रो ं के पलए एककक्षाका

मॉनीटर होता है। सू्कल में मॉनीटरकी संख्याक्या है-
(A) 100 (B) 75

(C) 80 (D) 85



In an examination, a student scores 4 marks for every correct answer and

loses 1 mark for every wrong answer. If he attempts in all 60 question and

secures 130 marks, the number of question he attempts correctly, is
एक िरीक्षा में, एक छात्र प्रते्यक सही उत्तर के पलए 4 अंक स्कोर करता है और हर गलत

उत्तर के पलए 1 अंक खो देता है। यपद वह सभी 60 प्रश्ो ं में प्रयास करता है और 130 अंको ं
को सुरपक्षतकरता है, तो उस के सही प्रश्ो ंकी संख्याक्या होगी-
(A) 35 (B) 38

(C) 40 (D) 42



Anuj is 5 years older to Barkha and 7 years younger to

Chandan, while Barkha and Dheeraj are twins. How

many years older is Chandan to Dheeraj ?
अनुज बरखा से 5 साल बड़ा है और चंदन से 7 साल छोटा हैं, जबपक
बरखाऔर धीरज जुड़वा हैं। चंदन से धीरज पकतने साल बड़ा हैं?
(A) 10                            (B) 18

(C) 14                            (D) 12



There are deer and peacocks in a zoo. By counting heads they are 80. 
The number of their legs is 200. How many peacocks are there ?
एक पचपड़याघर में पहरणऔर मोर होते हैं। पसर पगनने िर वे 80 होते हैं।
उनके िैरो ंकी संख्या 200 होती है। पकतने मोर हैं?
A.20 B.30
C.50 D.60



A zoo has tigers and sparrows and they are 70 in number on 

counting their heads and the number of their legs is 210. How 

many sparrows are there?
एक पचपड़याघर में बाघऔर पचपड़य हैं और उनके पसरकी पगनती करने िर

संख्या 70 हैं और उनके िैरो ंकी संख्या 210 होती है। तो ज्ञात कीपजए पकतनी
पचपड़य हैं? 
(A) 37 (B) 35

(C) 55 (D) 25


